124

~ 104 == 194 =194 == 194

29.01.2018

TEMPLATE
VPP.D424.12.4.A2.S-2

ROUND TUBE D42.4x2
AISI304 / AISI316 / S355

STEEL ROUND D12
AISI304 / AISI316 / S355

ROUND TUBE D42.4x2 T

AISI304 / AISI316 / S355 e

///

A
=<
7 L

~
 ~

ry

Fragment
1:10
_ 1 Top view
4 1:20
I\L .
- o | B
I |
}( )] ‘
I |
| |
I |
- ‘
I “ \
I 9
s ]
N @ — Al
‘< 1‘ I fl fl fl
N g T e o
| - |90
I
|
7
I o
o - D)<
I - SRR o
: ®: Producer; STABICO OU
| ‘S Tallinn, Estonia
d ¢ Tel: +372 55517 989  e-mail: stabico@stabico.ee
L1

Web: www.stabico.ee




104

~—174—==—174 =174 —==—174

Fragment
1:10

913

TEMPLATE
VPP.D424.12.4.A2.S-2

ROUND TUBE D42.4x2
AISI304 / AISI316 / S355

STEEL ROUND D12 b

AISI304 / AISI316 / S355 //;ﬂ
ROUND TUBE D42.4x2 e
AISI304 / AISI316 / S355 e

ry

&

Top view
1:20

29.01.2018

90

90

- StalBieo -

Producer: STABICO OU
Tallinn, Estonia

Tel: +372 555 17 989
Web: www.stabico.ee

e-mail: stabico@stabico.ee




®

[EnY
[y

=
o

S

INSTALLATION MANUAL
VPP.D424.12.4.A2.S-2

29.01.2018
1/3

Step 1
1:20
T
Installing columns %
i
1
T .
J DET 1-1
Top view
: 1:20
ol -

Hole diameter

11mm suitable for
Kzn concrete bolt,
anchor M8 or between
chemical anchor

(not included)

Recommendable distance

columns up to 1000mm

o
oY _
I

A

e [Sff 2

S A

me
OICQ ©

Tallinn, Estonia

Tel: +372 555 17 989
Web: www.stabico.ee

Producer: STABICO QU

e-mail: stabico@stabico.ee




INSTALLATION MANUAL
VPP.D424.12.4.A2.S-2

Step 2
1:20

Installing handrails

DET 2-1
(\\\\ ////////
E*\i}\\ pET22 &
o
T
®
@
o
U @
-] @
D 3
23 o
15
Button head bolt
DIN 7380 M4x6
?
Wall adapter Fasteners depends

on the place where
Plug

GL 42x2 (not included)

tube

Button head bolt
DIN 7380 M6x10

~_~ Connection
tube

will be attached

Connection

®

Y

Handrail and corner
profile are pre-drilled
and threaded.

-

\\\\ A
|

|

|

|

|

|
1

|

|

I

|

Button head bolt

g/ 3 DIN 7380 M6x10

29.01.2018
213

Connection
tube

wd L —
S SITC

IICOL

Producer: STABICO OU
Tallinn, Estonia

Tel: +372 555 17 989
Web: www.stabico.ee

e-mail: stabico@stabico.ee




INSTALLATION MANUAL 29.01.2018

VPP.D424.12.4.A2.S-2 313
Step 3 ]
1:20 C ]\l:ii::i\\
S
RN
Installing steel rounds RN

- 2
//// // — //
\\\\ P — - Q@ — - A/////////
S~ \]/1;/ & ) W/// teel round D12
L . /4// &
S = (@ ¥ Steel round
L p i < adapter
% Q@ ¢ = - VN
= @ Vo)
~ é// \ N,
N @ @ Countersunk Head Screws
g DIN 7991 M6x20
~» 0 ®
‘ N ) @
X @ T
T e
L Producer: STABICO OU

Tallinn, Estonia
Tel: +372 55517 989  e-mail: stabico@stabico.ee
Web: www.stabico.ee




